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0. 05 0.05  t
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100/2=>501
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B L - i (0. 25X 0. 25X 0. 45) X 50 = 1.41 m 1.41 m 1.4 m
a7 U — bk
T - AL 1. 41 = 1.41 m 1.41 m 1.4 m
E I (G 100 = 100.00 m| 100.00 m | 100.0 m
SR E - sy 11.6X100 = 1160.00 kg | 1160.00 kg |1,160.0 kg
= 1.16 t 1.16 t 1.16 | t
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BEEL - fiE (0. 2X0.2X%0. 45) X 50 = 0.90 m 0.90 ni 0.9 m
MR ) — Mk
TR - ALY 0. 90 = 0.90 m 0.90 m 0.9 m
7z A ik 100 = 100.00 m | 100.00 m | 100.0 m
SR ES - Ay 11. 86X 100 = 1186.00 kg | 1186.00 kg |1,186.0 kg
= .19 t 1.19 t 1.19 ¢t
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/)= EEZm B 7= 0 Il Lo TI00mb 729 iE
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B L - i (0. 2X0.2X%0. 45) X50 = 0.90 m 0.90 m 0.9 m
a7 U — bk
EHE - ALy 0.90 = 0.90 m 0.90 m 0.9 m
7 xR ik 100 = 100.00 m| 100.00 m | 100.0 m
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= 1.42 t 1.42 t 1.42  t
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77— ML ¥ o= 2 E O E 1 & H7= 0
Fl:lqgo %100 ;wbzoixls‘ao gﬁ; 60 0200 : ??3 SR
4 7 P AN
i ( 10000/ - I/ / / / = 10000
o 7277 [7227777722227772/ 72 7727777727777 7 77 2 (772777777777 77 77777 7 % -
600 L 10400
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- F4E
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g g / Al
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620 620
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FEAETRA | (4.0+0.6) x2 x 5. 14kg 47.29 kg
BT 1.15x% (3.9/0.1-1) x2 x 0. 716kg 62.58 kg
L—Iiv 16.0x2 x 9kg 288.00 kg
th<4 10.00 kg
a8t 558. 33 kg
(100x50%x1t2.3:5.14kg/m. 12x25xt1.2 :0.716kg/m.
L—JL : 9kg/m EtE)
T A& - R &t = 2V Bt EME | ARG EE
a7 Y—F
BugE L - s (0.472X0. 25) X100 = 4.00 m 4.00 m 4.0 m
gk 7 ) — Rk
TR - AL 4. 00 = 4,00 m 4.00 m 4.0 m
7 — NEE 1 = 1.00 J& 1 & 1.0 A&
EBA TR - LSy 558. 33 = 558.33 kg | 558.33 kg | 558.3 kg
= 0.56 t 0.56 t 0.56 t
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st . TILEL TEEIE BB PRIEHE A 1E RS
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BNE 12 |BHuE 12 |BEusE | 18 | BNE L= |BEHE T2 | BEus =
BhithE R T g+ = 1.0 1.0 52996 = 529.96
Bt = 1.0 1.0 51.80 51.80
FEKERIET Y 1.0 1.0 29.86 29.86 18.97 18.97
FRKEEKER BT = 1.0 1.0 82.68 82.68 67.55 67.55
SEKHEKERET = 1.0 1.0 6.02 6.02 2.92 2.92
EXRHREL = 1.0 1.0 11897 11897 | 10067  100.67
ERLZEET = 1.0 1.0 3.89 3.89 0.16 0.16
H—ERMERBET = 1.0 1.0 1.94 1.94 1.24 1.24
EEMNEET = 1.0 1.0 70.32 70.32 48.33 48.33
EENEER T = 1.0 1.0 2.58 2.58 1.46 1.46
T

& &t 529.96 51.80 316.26 241.30
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& Rk kB O OE X LTl

WoR| B o® [— o+ . L
W I R SR AR &= & W 1 SR Wi AR ® E

BP 2. 05 0. 00
20. 00 1. 355 27.10 0. 000 0. 00

NO. 1 0. 66 0. 00
20. 00 0.970 19. 40 0. 000 0. 00

NO. 2 1.28 0. 00
20. 00 4.730 94. 60 0.015 0. 30

NO. 3 8.18 0.03
20. 00 5.125 102. 50 1. 125 22.50

NO. 4 2.07 2.22
20. 00 1. 785 35.70 1. 150 23.00

NO. 5 1.50 0.08
20. 00 1. 795 35.90 0. 065 1. 30

NO. 6 2.09 0. 05
20. 00 1. 835 36. 70 0. 025 0. 50

NO. 7 1.58 0. 00
20. 00 1. 545 30. 90 0. 105 2.10

NO. 8 1.51 0.21
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EP 3.3 0. 00
y+4E 529. 96 = 51. 80
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e o JiiRt 1 Bl 1 4 B% 1 Hh PR Y A 4 18 R R EEEL
&R MR BT E’“’jﬁ e L@ BH0.28(0.2m) BH0.28(0.2m)
Hiis T= Hiis T= Hiis T= Hiis T= Hiis T= Hiis T=
EFART EHEL = 1.0 1.0 29380  293.80
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o
8121

ﬂEiﬁ"“:teﬂZ. 39nmi

EHEL 16424

HEFHE L 105.75m EHEL 7107

472.39+164.24+76.37
+86.31+71.07+105.75
+3.19

=979.32m
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4 R B B =V B FE A WERGEE Ml
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E CIC SV KEREE | RGN RE
OKFEEAT )
1E7K 71 (20A) 1+1+1 = 3.00 & 3.00 & 3 %
(HoK fiE% 1)
Bk 1 = 1.00 J 1.00 J& 1 %
(R K 1)
57K (20A) (faKFEWEERIE LKD) = 108.33 m 108.33 m 108  m
HEE Y — bk (faKFEWERIELD) = 107.63 m 107.63 m 108 m
/K E Wb HIZE (faKFEWEERIE LKD) = 10.76 i 10.76 nd 11 nd
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tpe N JILEL 1 E 48 B% 1 PR IR AR 15 R
&R MR BT “xiﬁ e L@ BH0.28(0.2m) BH0.28(0.2m)
HuE 128 | BEME | 18 | BME | XE | ENE L8 | BuE T2 | B
JKIEFERAT T 17K 5 (20A) H 10.0 3.0 0.86 0.26 0.44 0.13
FRKIBWEETSE)
HKERT #5KE (20A) = 1.0 1.0 29.60 29.60 18.84 18.84
iE =
& &t 29.86 18.97
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S ¢
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o VP ¢ 200 H
S %
( 20A
(=] —— )
SR SE STt rereTe o S
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2% B-1858kH
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£ R Eis " = R WaRGE _EAE
(BEAKMET)
7K PEZK HE-1
A-1,B-1 1+1 = 2.00 X%t 2.00 % 2 X
7K PEZK FE-1
A-2,B-2 1+1 = 2.00 X% 2.00 % 2
7K PEK Hk—2
B-3 1 = 1.00 & 1.00| 3% 1 i
7K PEKHk—2
B-4. B-5 1+1 = 2.00 X% 2.00 % 2 X
7K PEK Hk—2
B-6 1 = 1.00 A& 1.00| 3% RS
< UR— L& B 1 = 1. 00 {4 1. 00| & FrF 1 f57
(‘BIET)
MKPEKE-1 ¢ 150 18.0+18.0 = 36.00 m 36.00 m 36 m
MKPEKRE-2 6200 18.0+18.0 = 36.00 m 36.00 m 36 m
IAKHEKE -3 ¢ 300 18.0+18.0+18.0 = 54.00 m 54.00 m 54  m
MKPEKE -4 ¢ 350 11.28 = 11.28 m 11.28 m 11 | m
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e N JiLiEt 1 E 48 B+ HE A PR IR AR 15 R
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Bug 12 |HHME 18 |BHNME | T2 | BEuE T8 | BEusg I=2
K HEK -1
kit T A-1B-1 H 10.0 20 12.91 258 9.50 1.90
K BEK#g-1
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/K HEK #-2
B-3 H 10.0 1.0 2454 245 16.77 1.68
Rk ek #t—2
B-4, B-5 H 10.0 20 27.16 543 18.61 3.72
K HEK -2
B-6 H 10.0 1.0 29.77 2.98 20.44 2.04
EET RIKBEKE-1 = 1.0 1.0 10.81 10.81 10.43 10.43
FKHEKE-2 = 1.0 1.0 13.00 13.00 12.54 12.54
FIKHEKE-3 = 1.0 1.0 33.83 33.83 25.01 25.01
FKHEKE-4 = 1.0 1.0 8.61 8.61 8.02 8.02
ESE
& &t 82.68 67.55
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St 5 feke BImMm0 okt E EiA0]
B A FABKE-1 VPI50 oK BE kK B B O+ T (=R 0
& : & 137 0. 205
ApEL/2 | BifEL/2 CGRR | D IEHEIE E: F: G: H: J: K: L: M N1: N2: P:
ENO HENO. BN PR N IR L)L L)L HRHIE S PHEIER | EHER | JERUER | WRENE | dEA LR | LR | MEE- | BEE-2 | kL
EdElkes
FIZRHEARE-1
VP150
A-1 0. 450 0.570 0.225 0.285|  -0.220 -0.870 0. 650
~1.050 0. 830 0. 740 18. 000 17. 550 17.430 0.370 4.772 0. 156 4.616 0. 156
A-2 0. 450 0.570 0.225 0.285 0. 220 1.070 0. 850
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St 5 St FImMm v okt E S0
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VP200
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BA)797%=77 RC-40
t=100 (0. 614°2+0. 765X 0. 45) X 10 = 7.21 m 7.21 ot 7.2 m
((0. 614+0. 45) X 0. 05X 2+(0. 765 X 2+0. 45) X
)L ay)) - 0.05) X 10 = 2.05 m 2.05 m 2.1 m
YJLavy)-p(18-8-25) |(0.614X0. 45+0. 765X 0. 45) X 0. 05X 10 = 0.31 ni 0.31 ot 0.3 mt
AR+ HE K 10 = 10.00 & 10. 00 J& 10.0  J&
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RS — b 1 = 1.00 J& 1.00 J& 1 3
M BE-1 1+1 = 2.00 J 2.00 2 I
M BE—2 1 = 1.00 & 1.00 4k 1 &
M BE-3 1 = 1.00 & 1.00 4k 1 &
(4 )
L1 20+31. 78+126. 37+64. 55+41. 69+3. 30+

Ay a7z A1 [89.24+59. 51+1. 64+2. 00+3. 00 = 434.28 m 434,28 m 434 m
Ay a7z A2 [80.00 = 80.00 m 80.00 m 80 m
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(FIRD T)
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PiEE-1 2 1.0 2.0 0.81 1.62 0.68 1.36
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BELIZZVX m 100.0 73.8 29.92 22.07 23.03 16.99
BHitHT Hib = 10.0 2.0 2.91 0.58 2.34 0.47
H %:
a8 70.32 48.33
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IR 14. 1X1.3X0.2+14. 6 X 1. 8X0. 2 = 8.92 m 8.92 8.9 m
MR L 8.92-7.10 = 1.82 m 1.82 .8 m
5% sy 14. 1X1.3X0.25+14. 0X1.2X0. 15 = 7.10 m 7.10 7.1 m
BAITyvy=7v RC-40
£=200 14.1X1.3 = 18.33 m 18.33 18.3 | m
WERT (L-@200) (3. 0-0. 06 X2) m : 2. 88/0. 2 X BE2> =30
(1. 93+1. 85+0. 3+0. 3) X 30 = 131.40 m
SRS (7-7° 155 (@200) (14. 0-0. 06X 2) m : 13. 88/0. 2 =70k
(0. 09+1. 08) X2X70 = 163.80 m
131. 40+163. 80 = 295.20 m
295. 20 X 0. 56 = 165.31 kg
#kF5 D10 (0. 56kg/m) = 0.17 t 0. 17 0.2 | t
ERS <ALBEREES > 1=(3.0-0. 06 X 2)=2. 88m
2.88X18X2 = 103.68 m
A < ELiEER > 1L=(14.0-0. 06 X2)=13. 88m
13.88X 14 = 194.32 m
103. 68+194. 32 = 298.00 m
298. 00 X 0. 995 = 296.51 kg
ki D13 (0. 995kg/m) = 0.30 t 0. 30 0.3 | t
Y Layy) - R pe (14. 1+1.5) X0. 05X 2 = 1.56 nt 1. 56 1.6 m
¥y Lavy)-h (18-8-25) |14. 1X1.5X0. 05 = 1.06 m 1.06 .1 m
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¥ Lay)) - R 0.6X0.05X4X2 = 0.24 m 0.24 m 0.2 m
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X)) - M EEE M BT- 0 IZ1E. Lo TI00mbH7= Y ix

100/2=>501#

HEFE L7v21530(73. 76m) H 72 0 ITAERAEREII2E & 5,

—100m&H 7= D DK ERILME= 2X100/73. 76= 3@
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(EE%E)
HIEH O ((0.5572x0.1)+(1.05"2X0.55)) x47 = 29.92 29.92 29.9 m
(I UE)
HELO 29.92-6. 89 = 23.03 23.03 23.0 m
(EE%E)
5% 5@ ((0.5572X0.15)+(0. 452X 0.5)) X 47 = 6. 89 6. 89 6.9  m
(AED)
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UL I < FEHEA 5S>
B 79v=Ty
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27—} (18-8-25) (0.3572-(0. 1398/2) "2 3. 14) X0.4X 10 = 0.43 m 0.43 m 0.4 m
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